3.5 In Class Problems

dy dydu

1. Letu = g(z) =dr and y = f(u) = sinu. Theua e

(cosu)(4) = 4cos 4.
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L letu=g(z)=1—2"andy = f(u) =u _Thendm s d (10")(—2x) 20x(1 — =*)°.
4. Letu = g(z) =sinz andy = f(u) = tanu Thend—y _ dydu (sec® u)(cos ) = sec’(sinzx) - cos
g v ’ de dudz ’
or equivalently, [sec(sin z)]® cos z.
5. Letu = g(x) = wandy = f(u) = e* Thenﬂ= dy du _ E“}(lm_m) —eV®. 1 _ e’
) ’ dr dudzx 2 2z 2=
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6. Letu = g(z) = e* and y = f(u) = sinw. Then e dude (cosu)(e®) = ¥ cose®.
7. Flz)=v1+2z + a2 = (1 + 2z +2°)V* =
d 1
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Flz)=3(1+2z+2") dm(1+2x+x) (0522 7 293 (2+3z7)
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B Flz)=(z"—2+1)° = F'(z)=3("—=+1)*(2z—1)
0 o) = — (1) = g(E) = —B(E + 1) () = —1285(¢ + 1)~ = 2
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10. f(t) = YT T tant = (1 +tant)¥/?® = F(t) = 1(1 +tant) > Fsec’t = - sec ¢

/(14 tant)?
1. y =cos(a® +2°) = o =—sin(a® +2°) 32" [o” isjusta constant] = —3z®sin(a® + 2%)
122 y=a’ +cos’x = 3y =3(cosz)’(—sinz) [aisjustaconstant] = —3sinxcos®x

13. h(t) =3 -3¢ = R()=3>—3In3 [byFormula 5]
14. y = 3cot(nf) = 3y = 3[—ecsc?(nd) - n] = —3ncsc?(nd)

5. y=ze® = ¢ = ze~* (—2z) + e 1= (—2z* +1) = e_zz(l — 22%)

16. y = e ""cos3z = 1y = e °"(—3sin3xz) + (cos3z)(—5e ") = —e 5" (3sin 3z + 5 cos 3x)
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